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Chapter 4 New Vocabulary




Mary-san does not watch TV very much.
« XTY—=ZAIE, HFEYTLEZ
HFEH Ao

Takeshi-san does not go to the library at

SIEACT ol

« 72T LIAIE, ELEAAICEA

LYo < 7LC é FAWEFH A,

Yamada-san sometimes wakes up at 6am.

c PELIAIF, LEEETHAN
LICBZ£7,

John-san usually comes to school at 9am.

o« UV IAFI-WLWTWIHAAL
IZHh > T HICEET,

LYo




IZIZA T T 7
ATEH ?
(What do you say

in Japanese?): the
underlined word
IS contrasted

 We will eat dinner at 7pm.

« [FATIFAIZ, BRICIEANET,

* Today, | will not study.
« ThOIF RATEODLEHA,
* This evening, | will go to bed 11pm.
« ZAIFAIE, T—LIC RET,

* We don’t go to school on weekend.
c Lw2ED2 oI 2IClE WEERHAL,




« LB H

« N\T7NBH

o LT .RA

« TIRFTLSA

« T+ TS A

e PUra At LY

w2Vl EFARA
F->BFA AU %< XA
CL AL RA
LHL LwdEwd.SA
FLCICCw IRBESA

ShAHEWN



Extending an invitation

« ~FHTAN?
c ICHLEDOTIT, ZWAZHAFLTHAN?

e Lo XD, Lo L &£I(Z(together)& L &K AT
NAZ LD LETADT?

chHioE& BHbyx DHAITETANY

Hioe, by
LEHEAN?




Accepting/declining an invitation

« 2 2. B W\byall
means.)

¢ (/j:k/\\ L\L\T\\j_cio

c Z5TTRAL . .

e D~A. Bho&, . .
s TAHAEHAN. . .

e ¥¥k | NNZ  ~FH A,
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* With a specific time expression...
e~
* The particle {C becomes optional!
y : . « LLTA(IZ) HBIC AR
Approximately”, ) 4
“ & . e HLIIE, HET FLITA
sl (I2) Ao Z2IC XY,
e =L TA(IZ) E2XTAT
d—kb—% OIAITHAN?




* Telling things/people where
they are

* A new sentence structure
e Past Activities
* More Verbs

* More expressions
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Days of the
week

 Monday

e Tuesday

* Wednesday
* Thursday

* Friday

e Saturday

* Sunday

c 1T D& SR &5 H)
e L DTN L D H)

e TULVE D DK LK D
e L LH UKL D
c TALOYW(ELD
e KX HOWNELHH)
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Re-order these

words in a
correct order

e (LK< KOV, D& HUA, &
NESIUV, TEALOU, TU0&
IZHbEH O

e July 6-July 7-July 8
« (BHLI-. ZDS5, T &)



DML, WA D
. CD. DD

ML, £D. D
Which one would
you use for the

following nouns? (CP

0. 4-1)

EH7CH
L A ~7
AT
L LA
ThH A
EYVaC
IZIFA T
/N AT

X —)b

ZDARN
D<A
A

LNT

Nk DUVA
R —/N—



Which verb goes with these nouns?

same noun may go with two verbs) (CP p. 4-1)

« 7/X— |
e EHT1ZH
e D5

« X — )L
L LA
« BANK

« [ZITA T
« BARIT

e LHTB HABWI
A=) THHZK K

BHOIT %
ZlTA A
A=l ThH A
75—+ |z
LeLA &
55 ~
CH1EL AT R
BADK %
ICIEA T H

HWNET
KAFXT
M E 9
T-NEd
NEEXT
WEXT
) ERT
NZAY XS
FHbET
R
HMY £9

(the



Word Search (CP p. 4-2)

* This is where you buy groceries. A —=/8—
* These days, you can use a phone but in the past you
used a camera for this. L LA

* You do this in places like shopping malls,
department stores, etc.

* When you really become sick, or you need toseea
specialist, you go this place. K xd WA

* You tend to buy too much of this when travelling... #%#%®if
* These are very common pets (find two words). AR
* When students need money, they do this. TS Ak

* In those days, they used this in order to correspond
someone you cannot easily talk to. THH

NN



Odd man out: which word not belonging

to the group? (CP p. 4-2)

-U‘\/)ot:)\U\ FESU BLESVU. ED D
ANPGRS N

cTFI— b TIZR. 1FAR, R—/8—
FETR KT, VIR, LRIV, T
/N k

BT, Ve QLR I, T
DOEHEDD FTFII, LXRTY, D



Odd Man Out: which word does not belong to the group?
Why? (CP p. 4-2)

cALED, TANA b Qo RE—Y . F—

NAZE &9

coFL oA 37 GO dBE. ThA

FPIUAE £ < IRAP, EHOITD V£ 5 LA,
> C

P oL AL QR A<EL, AATL LA

Sy Db, A R=H= (BRI EADD. T
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Chapter 3 Kanji Quiz

Using Hi_ragana correctly, write the | « Which pronunciation is correct for the
ronunciafion of each of the following underlined Kanji? _ Answer with
anji expressions. alphabet. (2pts.xb)
(Ipt.+3pts.+2pts.+2pts.+2pts.+3pts.) . LS a 7itib. LB

1. P+ At U "4th year student”

mEF  a. KA b, & c L

2. 73T “6000 yen” e RXE a.5< b Ao
3. J\g/ “800" o NLBF a. 2> b. <
4. .75 “90,000” s — H a. 0 < b. %<

c. F% <
5. B “10 o'clock”

6. 4= “23"



